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1-As she thought that having longer hair made her look more attractive, she rarely cut her hair, ...?
1) did she 2) did it
3) didn’t she 4) didn’t it

2-... from the student’s viewpoint, the oral exam can be really frightening, and difficult to handle.
1) It is seen 2) Seen

3) If it was seen 4) Seeing

3-In my opinion, ... appreciation of the ancient arts nowadays due to recent advances in technology.
1) we little have 2) little do we have
3) having little 4) to have little

4-It was most unfortunate that the people he had trusted ... to be nothing more than fair-weather

friends.
1) turned it out 2) it tuned out
3) turned out 4) turned out it

5-The teacher was very angry and said that the student didn’t do any homework, ... any of his books
to class either.
1) neither he brought 2) nor did he bring
3) and so he brought 4) and he didn’t bring

6-The main problem is that the group members have no idea about the size of the task ... them.
1) confronting 2) confronts

3) confronted 4) and confront

7-For the time being, we are studying for the exam, but this time tomorrow we ... the best movie of

this year.
1) have watched 2) will be watching
3) will have watched 4) had been watching

8-The economic downfall of the U.S. has affected many countries and Haiti is ... one.
1) the most affecting 2) more affecting

3) as affected as 4) the most affected
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9-He was not supposed to do something like that, so everyone was surprised and couldn’t perceive ...
he left school.
1) why 2) how
3) when 4) whether

10-Nowadays, two people can easily meet in virtual reality ... physically located in different continents.
1) besides 2) instead

3) even if 4) however

11-Scientists agree that America’s native Indian population came from Siberia, but they disagree on
the number and dates of ... migrations.
1) perilous 2) particular
3) profound 4) punctual

12-Plants that are transferred from a warmer climate to a colder one may not be able to ...
environmental changes and, thus, begin to wither away.
1) accomplish 2) fluctuate
3) illustrate 4) withstand

13- A considerable portion of household expenditure goes to the ... of facilities as it is highly important
to keep everything operational.
1) maintenance 2) manufacturing
3) evolution 4) commitment

14-Thanks to the advances in technology, you can now work out on a treadmill while ... holding a
business meeting via your smartphone.
1) adequately 2) temporarily
3) simultaneously 4) tremendously

15- Although variations may exist, units of time are most commonly defined by the Earth’s movements
... the Sun.
1) in spite of 2) contrary to
3) in relation to 4) making reference to

16-He looked dubiously at his friend’s ... old car and wondered whether it was safe to get into.
1) persistent 2) idiot
3) rusty 4) frustrated

17-The trend toward the ... of banking has made it much more difficult for individual governments to
regulate international banks.
1) irritation 2) application
3) illustration 4) globalization
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18-The International Monetary Fund ... striosew leoding ¢nonditions on the African country because of
its corruption.
1) imposed 2) assumed
3) squeezed 4) indulged

19-The expansion of human civilization into space is ... because of the availability of vast planetary
resources.
1) feasible 2) gentle
3) moody 4) irreversible

20-Their small size and ..., along with good sound quality, is what makes MP3 players popular.
1) deprivation 2) portability
3) enthusiasm 4) hospitality

21-Scientists think it unlikely that any plant species will actually become extinct as a ... of coming into
contact with this chemical.
1) draft 2) consequence
3) barrier 4) collision

22-Many animals could successfully survive in a harsh environment, and their bodies enabled them to
... into larger and more diverse creatures.
1) menace 2) reduce
3) assert 4) evolve

23-Generally, the ... drive for self-preservation led to the emergence of a range of public and
governmental institutions.
1) cautious 2) curious
3) instinctive 4) perpetual

24-The universities of Chicago and Princeton are planning to ... a new telescope to producing a three-
dimensional map of galaxies.
1) elicit 2) compile
3) pursue 4) dedicate

25-He’s dropped several ... to the boss that he’ll quit if he doesn’t get a promotion very soon.
1) claims 2) hints
3) cases 4) matters

L/J.b.o Q’J).\
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PASSAGE 1: www.konkur.in

Saving energy means saving money. Homeowners and renters know this basic fact, but they often
don’t know what Kinds of adjustments they can make in their homes and apartments that will bring
about savings.

For those willing to spend some time and money to reap long-term energy savings, an energy
auditor is the way to go. An energy auditor will come into your home and assess its energy efficiency.
The auditor will pinpoint areas of your home that use the most energy and offer solutions to lower
your energy use and costs. They know what to look for and can locate a variety of flaws that may be
causing energy inefficiency, including inadequate insulation, construction flaws, and uneven heat
distribution.

There are quicker and less costly measures that can be taken as well. One way to save money is to
replace incandescent lights with fluorescent ones. This can result in a saving of more than 50% on
your monthly lighting costs.

When it’s time to replace old appliances, it’s wise to spend a bit more for an energy-efficient
model, and be sure that you are taking advantage of energy-saving settings already on your current
refrigerator, dishwasher, washing machine, or dryer.

Windows provide another chance to cut your energy costs. Caulk old windows that might be leaky
to prevent drafts, and choose double-paned windows if you’re building an addition or replacing old
windows.

56-Which of the following best expresses the main idea of this passage?

1) There are many things a homeowner or renter can do to save energy and money.

2) Hiring an energy auditor will save energy and money.

3) Homeowners and renters don’t know what they can do to save energy and money.

4) Replacing windows and light bulbs are well worth the effort and cost.

57-Which of the following ideas is NOT included in this passage?
1) You can reduce your $130 monthly lighting costs to $65 by using fluorescent bulbs instead of
incandescent ones.
2) Double-paned windows can cut energy costs.
3) Your local energy company will send an energy auditor at your request.
4) Some appliances have energy-saving settings.

58-The word “pinpoint” in paragraph 2 is closest in meaning to ... .
1) contemplate 2) identify
3) deliver 4) supervise

59-What does the word “They” in paragraph 2 refer to?
1) Costs 2) Energy auditors
3) Solutions 4) Areas

60-According to the passage, which of the following would an energy auditor NOT do?
1) Check for construction flaws.
2) Look for problems with heat distribution.
3) Offer solutions to lower your energy costs.
4) Locate a variety of flaws that may result in energy inefficiency and fix them.

61-According to the passage, double-paned windows ...
1) are energy efficient.
2) should only be used as replacement windows.
3) should only be used in new additions to homes.
4) will lower your heating costs by 50%.

forum.konkur.in

www.kanoon.ir



www.konkur.in

62-The passage would most probably continue with a discussion of ... .
1) another area of your home which offers opportunity to save energy
2) what an energy auditor will do to deal with energy inefficiency
3) the importance of using incandescent lights in a kitchen
4) when it is the best time to replace old appliances with new ones

PASSAGE 2:

A useful definition of an air pollutant is a compound added directly by humans to the atmosphere in
such quantities as to affect humans, animals, vegetation, or materials adversely. Air pollution
requires a very flexible definition that permits continuous change. When the first air pollution laws
were established in England in the fourteenth century, air pollutants were limited to compounds that
could be seen or smelled, a far cry from the extensive list of harmful substances known today. As
technology has developed and knowledge of the health aspects of various chemicals has increased, the
list of air pollutants has lengthened. In the future, even water vapor might be considered an air
pollutant under certain conditions.

Many of the more important air pollutants, such as sulfur dioxide, are found in nature. As the
earth developed, the concentrations of these pollutants were altered by various chemical reactions;
they became components in biogeochemical cycles. These serve as an air purification scheme by
allowing the compounds to move from the air to the water or soil. On a global basis, nature’s output
of these compounds dwarfs that resulting from human activities. However, human production
usually occurs in a localized area, such as a city.

In this localized region, the human output may be dominant and may temporarily overload the
natural purification scheme of the cycles. The result is an increased concentration of noxious
chemicals in the air. The concentrations at which the adverse effects appear will be greater than the
concentrations that the pollutants would have in the absence of human activities. The actual
concentration need not be large for a substance to be a pollutant; in fact, the numerical value tells us
little until we know how much of an increase this represents over the concentration that would occur
naturally in the area. For example, sulfur dioxide has a detectable health effect of 0.08 parts per
million (ppm), which is about 400 times its natural level. Carbon monoxide, however, has a natural
level of 0.1 ppm and is not usually a pollutant until its level reaches about 15 ppm.
63-What does the passage mainly discuss?

1) The economic impact of air pollution

2) What constitutes an air pollutant

3) How much harm air pollutants can cause

4) The effects of compounds added to the atmosphere

64-1t can be inferred from the first paragraph that ... .
1) water vapor is an air pollutant in localized areas
2) all air pollutants today can be seen or smelled
3) the definition of air pollution will continue to change
4) a substance becomes an air pollutant only in cities

65-The word “they” in paragraph 2 refers to ... .
1) concentrations 2) pollutants
3) reactions 4) components

66-Natural pollutants can play an important role in controlling air pollution for which of the following
reasons?
1) They function as part of a purification process.
2) They occur in greater quantities than other pollutants.
3) They are less harmful to living beings than are other pollutants.
4) They have existed since the Earth developed.
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67-According to the passage, which of theWﬂElﬁyrtme about human-generated air pollution in
localized regions?
1) It can be dwarfed by nature’s output of pollutants in the localized regions.
2) It can overwhelm the natural system that removes pollutants.
3) It will damage areas outside of the localized regions.
4) It will react harmfully with naturally occurring pollutants.

68-The word “noxious” in paragraph 3 is closest in meaning to ... .
1) harmless 2) toxic 3) appropriate 4) adaptable

69-According to the passage, the numerical value of the concentration level of a substance is only
useful if ... .
1) the other substances in the area are known 2) it is in a localized area
3) the naturally occurring level is also known 4) it can be calculated quickly

70-Which of the following is best supported by the passage?
1) To effectively control pollution, local governments should regularly review their air pollution laws.
2) The most important step in preserving natural lands is to give up the air pollution laws.
3) Scientists should be consulted in order to establish uniform limits for all air pollutants.
4) Human activities have been effective in reducing air pollution.

26-
1) Banks which will usually refuse to lend money to anyone unless they have a regular job.
2) Banks usually will refuse to lend money to anyone who they have a regular job.
3) Banks that usually will refuse to lend money to anyone who they have a regular job.
4) Banks will usually refuse to lend money to anyone unless they have a regular job.

27-
1) Many charitable organizations provide free medical help and support to areas hit by disasters.
2) Many organizations are charitable provide free medical help and support to areas which hit by
disasters.
3) Many organizations are charitable provide free medical help and support through areas hit by disasters.
4) Many charitable organizations provide free medical help and support through areas which hit by
disasters.

28-
1) In spite of our trip being cancelled, we were accepted the travel company’s offer of a partial refund.
2) When our trip was cancelled, we accepted the travel company’s offer of a partial refund.
3) Cancelled our trip was and we were accepted the offer of the travel company of a partial refund.
4) Our trip was cancelled, we accepted the offer of the travel company of a partial refund.

29-
1) Before the money had run out, they decided if or not to continue with their research.
2) Before the money had run out, they decided whether or not continue with their research.
3) When the money ran out, they had to decide whether or not to continue with their research.
4) When the money ran out, they had to decide if or not continue with their research.
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30- www.konkur.in

31-

33-

34-

36-

38-

1) By depending on how they are used, some words can have a different function without changing their
form.

2) To have a different function without changing its form, some words can depend on how they are used.
3) Some words can have a different function without changing their form, depending on how they are
used.

4) Without changing their form, some words can have a different function, they depend on how they are
used.

A: Hi, Evan. I haven’t seen you in a while. ...(31)...

B: Nothing really. I keep getting ...(32)... at work. I hate my job! I’m going to quit.

A: Even if your job is demanding, you shouldn’t ...(33)... and quit it!

B: You don’t understand. Yesterday was my daughter’s birthday, but I didn’t ...(34)... work until
11 o’clock.

A: Well, maybe you should talk to your boss about it.

1) What’s the damage? 2) There is no telling!

3) What have you been up to? 4) You can say that again!
1) backed off 2) pulled off

3) covered up 4) held up

1) get carried away 2) be in charge

3) break the news 4) stick it out

1) get through to 2) live up to

3) get through with 4) check up on

A: Chris, I’'m ...(35)... about my statistics course. I find it very difficult.

B: I had that class last semester and wanted to drop it, but I decided to ...(36)... . By the time it was
over, I had learned a lot.

A: Yeah, I suppose I shouldn’t ...(37)... just because it’s hard.

B: That’s right. You should always ...(38)... things, no matter how unpleasant they are.

1) going with the tide 2) having second thoughts
3) lending a hand 4) putting on airs

1) lose my head 2) see eye to eye

3) beat around the bush 4) stick with it

1) get ahead 2) show off

3) give up 4) shore up

1) face up to 2) give out

3) hold out on 4) let down
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A: How did your job interview go? www.konkur.in

B: It ...(39)... . The manager realized I was the best option for the job straight away.
39- 1) was a breeze 2) was all thumbs

3) fell behind 4) went to pieces

A: What do you think of his chances of success?

B: I don’t want to be a pessimist, but with Helen as his rival, it seems to be ...(40)... .
40- 1) over the moon 2) in the loop

3) bevond hope 4) right down his alley

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

The advisability of humans participating directly in space travel continues to cause many debates.
There is no doubt that the presence of people on board ...(41)... the design of a space vehicle much
more complex and challenging, and produce a large increase in costs, ...(42)... safety requirements
are greatly increased. Furthermore, the technology ...(43)... necessities for human passengers such
as oxygen, food and water must be guaranteed. Moreover, the systems required are bulky and costly,
and their complexity increases for long-duration ...(44)... . Meanwhile, advances in electronics and
computer science allow increasingly complex tasks to be ...(45)... to robots, and unmanned space
probes are becoming lighter, smaller and more convenient.

However, experience has shown that the idea of humans in space is popular ...(46)... the public.
Humans can also be useful; there are many cases when only direct ...(47)... by an astronaut can
correct the malfunction of an automatic device, Astronauts have proved that ...(48)... to conditions
of weightlessness and work in space without encountering too many problems, ...(49)... in the
operations to repair and to upgrade the Hubble Space Telescope. One human characteristic which is
particularly precious in space missions, and which so far is lacking in robots, ...(50)... the ability to
perform a great variety of tasks. In addition, robots are not good at reacting to situations they have
not been ...(51)... prepared for. This is especially important in the case of deep space missions.
While, in the case of the Moon, it is possible for someone on Earth to tele-operate a robotic device
such as a probe, as the two-way link time is only a couple of seconds, on Mars the two-way link time
is several minutes, ...(52)... instructions from Earth is more difficult.

Many of the promises of artificial intelligence are still far from ...(53)... . The construction of
machines simulating human logical reasoning moves towards ever more ...(54)... dates. The more
the performance of computers improves, ...(55)... we realize how difficult it is to build machines
which display logical abilities.

41- 1) making 2) makes 3) will make 4) to make
42- 1) since 2) although 3) besides 4) instead
43- 1) provides 2) provided 3) which is provided 4) providing
44- 1) missions 2) ornaments 3) donations 4) illusions
45- l) inspired 2) entrusted 3) dissolved 4) consumed
46- 1)in 2)on 3) for 4) with
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47-

48-

49-

50-

51-

52-

54-

55-

1) possession

1) adapting
3) having been adapted

1) seen as was
3) as it was seen

1)is

1) frequently

1) sending such

1) fulfill

1) distant

1) which mostly

2) depression

2) which

2) specifically

2) such a sending

2) being fulfilled

2) convenient

2) the more

www. kan ketetmention

2) they should have adapted
4) they can adapt

2) as was seen
4) it was seen as

3)andis

3) reluctantly

3) sending so

3) fulfilling

3) adjacent

3) and more
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4) discrimination

4) which is

4) symbolically

4) so sending

4) to fulfill

4) present

4) the most
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